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Resumen ejecutivo
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�����7�5��	 =��	 ���	 =������=�����	 5��	 �I=����	  ��5�	 5�	 -5
����5��%

-�	:�� ����	5�	-5
����D�	=���	&�5��	 8-5
����5��;	 �
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���	 �����D	 ��������	 5�	 �=���	 �I�����	 �
����������	 �	 -5
����5��	 =���	 5����������	 ��	 =�� ����	 5�	 �I=����	 �	 ������	  ��5�%

-5
����5��	�������
��	
��	��5���5�5	�����������	5�	����� �	5�	���������	�5
��������
.
�	 =���
���	 ��	 ���������D�	 5�	 ���	 =������=�����	 ���	 �
	 ��������	 ������
���5�
�=���5�7�E��	 ���	 ��	 �=���	 5�	����������	 =��=���	 5�	 ��,��	 �	 �
5��%	 �
	 �
��4�
��	 ���<
1���5�	 ��	 ���	 ���5��������	 3<�����	 ����1����5��	 =��	 ��	 ��������4�	 5�	 -5
����D��
5���������5��	�	����I�	5�	J����5��	5�	�=���5�7�E�	.
�	�������	5�	�����	�E��	���� ��5��'
=�1����D��	 ��1������	 ���
5�	 �5����5�5	 ��������	 �	 ��
5�5��4�	 �	 5���������%	 ���������
������	 
�	 =�� ����	 =���	 ��	 ����F��7�	 5��	 �� �I�%

@�	 =��=
����	 �
����
���	 5�	-5
����5��	 ���=��5�	 �����	 �	 ���	 ������5�5��	 �5
�������
����������	 ����	 �	 ���	 ��=���������	 5�	 ���	 =������=�����%	 ��	 1���	 ��	 ��	 ���1�E�	 5�	 ����*
����5����	 ���
��������	  �����������	 �45����	 5�	 �
�	 ���=�������	 ���
��5�5��	 .
�	 ��
5�������	 =��	 �
	 ����	 ��=4���
	 5�	 ��������	 �	 ����5���5�5%	���������	 ��	 5���������	 ���	 ��
=������=���D�	 �	 ��	 �=���	 5�	 ��	 ���
��5�5�	 �����54��	�
����=�����	 �� ���7�������	  
*
1������������	 �	 ��	  
1�������������	 �� ���7�������	 =����5��	 5�	 5����������	 ��=����
=����5��	 � �������	 ���=��������	 �	 �����	 ������
�������	 1�E�	 ��	 =�����=��	 5�	 .
�	 ��
�5
����D�	 ��	 
��	 ���=����1���5�5	 ���=����5�	 5�	 ��	 �����5�5%

A���	 ��������4�����	 5�	 -5
����5��	 ��������	 ��	 ��	 ���,�1���5�5	 5�	 ��������	 ��	 .
�
��.
����	�D��	5�	
�	=����5��	5�	5��	�	5��	�����	�	��5��	5������	5�	 ���1�E�	��	 �
=��
���=�������5�	 ���	 ���1�E��	 ��	 ����%	 @��	 �������	 5�	 -5
����5��	 �
�������	 ��	 
��
5������5�5	5�	 ��1������'	 ���
�����	 E��5����	 5�	 ��F���	 �������	 5�	 �5
����D�	 �����������
� �������	 ��.
�����	 �����	 =�����
������	 ��5��	 5�	 �� ���7��������	 �������	 =�������	 ��
����	 5��5�.
����	 .
�	 �,����	 
�	�4����	 5�	 �������������	 =���	 ���������	 ��	 �=���5�7�E�%
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��	 �����������	 5�	 ����5�5
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���5�	 ��4	 �
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Objetivos del estudio

-�	 =��=D����	 5��	 ���
5��	 �
�	 �5����������	 5�����1���	 �����7��	 �	 ���=����	 ��	 �����	 5�
���=�������	 5�	 ���	 ���
5������	 ��	 ���	 ��1���5�5��	 �	 5�����7��	 ������=��5������	 �	 ���
��� ���
���	 5�	-�=�F��	 �	�����<������	 �	 ���	 5�	 5���������	 ��	 ��=����	 5�	-5
����5��
��	 ��	 ���5�������	 ���5I����	 5�	 ���	 =������=�����%	 @�	 ������� ���D�	 ����
��'
�;	 6��=���������	 5�	 ���	 ���5��������	 5�	 ���	 =������=�����	 ��	 �������	 =�����	 5�

�I=����	  ��5��	 �� L�	 ���	 ���
���5��	 5�	 =��	 �	 =�������	 =���	��5��	 ���	 ���1���	 ��
��	 �=���5�7�E�	 5�����	 5��	 �����	  �
=�M

1;	 6��=���������	 �����	 ����	  �
=��	 5���������	 ��	 ������7��	 �I=����	  ��5�%
-�	 ��	 =������	 ��	 ����1��������	 ���=���������	 �����	 ���	 �������	 5�	 ���=�������	 5�

���	 =������=�����	 5�	 -5
����5���	 �����	 5�	 ���	 �������	 =�����	 ����	 5�	 ���	 �������	 5�
�,=����D�	 ���5�F���	 �	 
��	 �
�����	 5�	 ���	 ���
5������	 ���������	 ��	 ��	 ��5���5�5
���5�������	 5�	 ����� �	 5�	 ���������%

�����������	 ��	 ����
�D	 ��	 ��<�����	 5�	 ���	 5����������	 ����54����������	 �� �����������
��	 ���	 ���
���5��	 5�	 ��	 ����
���D�	5�	 ���	 ��� ���
���	 5�	-�=�F��	 �	�����<������	 �� L�
7���	5�	 ����5������	 I����	�	�5�5	5�	 ���	=������=�����	��	 ���	 ����	 �
=��	����
�5��	��
��	 =������%

Metodología

@�	 ����5��� 4�	 ��=���5�	 �
�	 5�	 ���<����	 �
����������	 �	 �
���������%	 @��	 ���*
��
������	 
����7�5��	 �
����	 =�
�1��	 5�	 �������D�	�L���=��	 ��	-�=�F��	 �	�����<������
���1���5��	 ���	 1���	 ��	 
��	 ��1��	 5�	 �������	 5�	 �� ���	 ���1���5�	 =���	 ��5�	 �����	 5�
=�
�1�	 �	 ��� ���
��%	 :���	 ���	 =�
�1��	 ������=��5������	 �	 ���	 �������	 5�	 �
����	 �
��,��	  ��5��	 ��	 �����5������	 ���	 ���5��������	 3<�����	 ����1����5��	 =��	 ��	 ��������4�
5�	-5
����D�	 =���	 ��	 �����	 =�������M	 =���	 ���	 =�
�1��	 5�	 �I=����	  ��5��	 ��	 
����7����
���	 ��������	 5�	 ��������	 �	 ���
������	 ��=���5�	 =��	 -5
����5��	 ��	 ��	 ����
����D�	 5�
���	 J����5��	 5�	 �=���5�7�E�%

@��	 �����
������	��	5���F����	��	�����	5�	=�
�1�	�1E������	 ���� ��5�	=��	���������
5�	 �������D�	 �L���=��	 ��5���5��	 5�	 ��
��5�	 ���	 
�	  ��5�	 5�	 5����
���5	 ���������%
:���	 �����7��	 ��	����5���D��	 ��	 ����
��D	 �	 ��=����������	5��	:�������	 
-9	

	 *	>��5
���
��	 ��5�	 
��	 5�	 ���	 ��� ���
���	 ����
�5��%

-�	 ���	�������	=�����	5�	-5
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�1�����	 ����54������	 5�����=�����	 ��1��	 ��	 ���=����������	 5�	 ��	�
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���5�
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Diseño de evaluación

-�	����.
�	5��	���
5���	�5��<�	5�	��5��	�	����I�	5�	�I������	�1E������	��	���5�������
5�	���	=������=�����	5��	�I=����	 ��5��	��	������D	�����	��	5�� �D�����	5�	���	�����������
.
�	 =����������	 ���	 ���
���5��	 5�	 ���	 =������=�����	 ��	 ��	 �=���5�7�E�	 5�	 �������5��
������=��5������	 �	 ���	 ��� ���
���	 5�	-�=�F��	 �	�����<������	 5�����1���5�	 ���	 4�5����
�	 �������	 5�	 �=�������������	 �1����5��%

-�	5���F�	��=���5�	=���	 ���	���=���������	�����	 ���	 ����	 �
=��	��	5�	 ��=�	�,	=���
������	 5�	 
��	 ����	 ��7	 �	 �=������D��	 �������5�	 �	 �� ���7��	 �	 5�����1��	 ���	 ���������
���=���5�5��	 ��	 ��	 ����
���D�	 5��	 �=���5�7�E��	 ��	 ��	 .
�	 ���	 �
E����	 ������	 ����	 �

=��=��	 �������%	 -�	 5���F�	 ��	 �����������	 =��.
�	 ��	 ����
D	 �	 ���	 =������=�����	 ��	 
�
�������	 5�	 �
	 �=���5�7�E��	 �	 ��� ��
5����	 =��.
�	 ���	 �������	 =������	 �
����	 ���*
�
�5��	 ��	�����	 ��	 5��	��������	 5�	 �
	 ��5�	 �������%

-�	 ��<�����	 5�	 5����	 ��	 1��D	 ��	 ����������	 �����5�	 ����	 �
����	 5�	 �� ������5�	 ��
5������M	�
����	��E��	 ��	����7��	��	5������	�	 ��	5�����	���	�����	=������D��	�����
�� ������5�	 ���5�<	 ��	 ����
���D�%	 -�	 ����	 ���
5���	 ���	 ���
���5��	 5�	 ��	 ��5���D�	 ��
���=����	���	
�	��������	�1���
��	�������
�5�	=��	 ��	.
�	5�1�	��1��	�	 ��	.
�	5�����
��	 �5
���5�	 8:�=����	 �#��;%

@�	$�6-	����1����D	����	��������	5�	5������	��	��K	5�	���	�������5��	����
�5��%
6�5�	 ���=�������	 ��=��4����	 �
�	 ����
�5�	 
����7��5�	 ����	 ���������M	 ��	 ���=
����	 ��*
������	�	5��	5�	�����	�.
�����	�	
�	��K�	��	�
��	�� ������	.
�	��	=������=����	��	 �� ��5�
��	 5������	 5��	 �=���5�7�E�	 ����
�5�	 ��	 ���	 ���=�������	 ��=��4����%

Población y muestra

@�	 ����
���D�	 ��	 �����7D	 ��	 ���	 5�=����������	 5�	 6���I��	 �����	 3<�1����	 !�����
6���
����	�	���������	����7<�%	��	���
5�D	
��	�
�����	5�	���	���
5������	5��	�I=����
 ��5�	5�	 �5
����D�	1<�����	 ���	�
E����	 �	 )(�	 ���1����	 .
�	 ���������	 �
�	 ���
5���	 ��
��	 �F�	 "���%	��	 ����	�
������	 ���	 =�������4��	 �	 ������5D�	 �������	 =�����	 5�	 -5
��*
��5���	 ����5��	 ��	 �������	 ��	 &�����	 6����M	 "��	 �	 �����	 �������	 5�	 �,=����D�	 5�	 -5
*
����5��� 	 ����5��	 =�������������� 	 �	 ++�	 �	 5���	 �������	 �� 
������ 	 ��	 5���� �
=�������������	 �	 ��	 ��5���5�5	 ���5�������	 5�	 ����� �	 5�	 ���������%

Conclusiones

O @��	 ���5��������	 5�	 ���	 =������=�����	 ��	 ���	 �������	 =�����	 5�	 -5
����5��	 ���
����54����������	 ��E����	 .
�	 ���	 ���5��������	 �1�����5��	 ��	 ���	 �������	 5�
�,=����D�	 �	 �����	 ���	 ��
����	 5�	 �������	 �� 
�����%	 -�	  �������	 ��	 ��	 �1������
5����������	 ��	 ��	 5����=�F�	 5�	 ���	 =������=�����	 5�	 �������	 5�	 �,=����D�	 �	 ���
��
����	 5�	 �������	 �� 
�����%

O $�	 ��<�����	 5�	 ���	 ���5��������	 5�	 ���	 =������=�����	 5�	 ���	 �������	 =�����	 5�
-5
����5��	��	 ������	�	��	�����	5��	�I=����	 ��5�	8=������	�	=������;	�����D	���1���
����54����������	 �� �����������%

�-�$�-�	 -J-6$&
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O -�	-�=�F���	 ��	�����4�	 5�	 ���	 =������=�����	 ���4�	 ��	 ������	 
�	 5������	 =������	 5�
���	 ���=��������	 ����
�5��	 ��	 ���	 ����	 �������	 5�	 =�
�1��	 �=����5��%	 ��	 ������7��
��	 �I=����	  ��5��	 ��	 �(K	 5�����1�	 ���	 ���=��������	 ������=��5������	 ��	 �
����
 ��5��	 ��	 +(K	 5�����1�	 ���	 5�	 ��,��	  ��5�	 �	 ��	 ""K	 5�����1�	 ���	 5�	 �I=����
 ��5�%

O -�	�����<������	 ��	 ����
��	 ���	 ���=��������	 ������=��5������	 ��	 �
����	  ��5��	 ��
�����4�	 5�	 ���	 =������=�����	 ���4�	 ��	 ������	 
�	 5������	 =�������	 �	 ��	 ������7��	 ��
�I=����	 ��5�	 ��	 �)K	�����7D	 ��	 5������	 �����%	-�	 ++K	��	5�����1�	 ��	 ������	 ���
���=��������	 ����1����5��	 =���	 ��,��	  ��5��	 =���	 ��	 ������7��	 ��	 �I=����	  ��5�	 ��
�)K	 �����7D	 
�	 5������	 =�������	 �	 �D��	 
�	 �K	 �� �D	 ��	 5������	 �����%	 -�	 ���
=�
�1��	 ������=��5������	 ��	 �I=����	  ��5��	 (�K	 5�	 ���	 =������=�����	 ��=�7D	 ���
5�������	�	�D��	��	"K	�� �D	��	�����	��	5������	�����	5�	���	���=��������	����
�5��%

O -�	 ��=�������	 5�������	 .
�	 ���	 =������=�����	 5��	 �I=����	  ��5�	 5�	 -5
����5��
�
������	 ���5��������	 ��	 -�=�F��	 �	�����<�����	 ����������	 �	 ��	 �� 
���	 �����
��E�����	 �	 ���	 �����7�5��	=��	 ���	 ���
5������	5�	 �������	 �� 
�����%	-���	5��
�����
.
�	-5
����5��	��	����5�	I,����	�	=����	5�	������	���	�����	���
����M	��	��������
�������������	 ��=��������	 5���������	 ���	 E����5��	 5�	 �=���5�7�E�	 ��	 
�	 �������
���,�1��	 �	 ��	 =����	 �����	 ��	 54��	 �	 ���1�E�	 ���	 ��������5����	 ���
�������	 ��	 �
 ��
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���������	 
����7��	 ����	 ��=�	 5�	 �����
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Executive summary
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����	 �����������	 2���	 �����	 �����������	 ��5
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��������	 R��5��* ��5����	 ����������	 �5
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Study objectives
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Methodology
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��5	����	2���	1���5	��	���	�����
�	��.
���*
�����	 ����1�����5	 1�	 ���	��������	 ��	 -5
������	 ���	 =������	 ������%	 &��	 �������
 ��5�	�����	
��5	���	�
����
�
�	�����������	 
�5��	��5	��.
����	
��5	1�	-5
����5��%

&��	 �����
�����	 2���	 5��� ��5	 ��	 �1E������	 ������	 ��5�	 
=	 ��	 ����	 ��	 �
���=��*
������	 .
�������	 �� ���7�5	 �����5�� 	 ��	 ��������� 	 ������	 ��	 5�����
���%	 &�	 ���
��
����5����	 
-9	 

	 =��E���	 �
����
�
�	 2������	 2���	 �������5	 ��	 ����	 ��	 ���	 �
1E����
����
���5%


�	 ���	 -5
����5��	 =����	 ��������	 �2�	 ����
������	 2���	 ���5
���5'	 �	 =�������	 ��5	 �
=���*����%

&��	 ���=���5	 �����������	 2��	 �����7�5	 
��� 	 ���=
����7�5	�����5�	 ��	 ��5��	 ��
�1����	5�����=����	 ����������	��	 ���	 ���=���	 ����
5�� 	 �������7������	��5	�,���=��������
��	 ���	 =�=
������	 ����
5�5	 ��	 ���	 ��
5�%



	 	 	 �A�3�-	�-	@�	:$3@
6�6
G�"�

Evaluation design

&��	 ��
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Population and sample
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1. Introducción
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2. Características generales del estudio
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2.2 Diseño de la evaluación
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3. Resultados globales
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3.1 Educatodos: una modalidad innovadora de entrega de servicios
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3.2 Resultados globales en la asignatura de Español
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�	 ������	 
��	 =���1��%
%	 	 	 
5���������	 ��	 �
E���	 �	 =��5���5�	 ��	 ���	 ���������	 .
�	 ������	 
�	 ��,��%
%	 	 	 
5���������	 ��	 
�	 ��,��	 =���1���	 ���D�����	 �	 ���D�����%



)�@AC�A�	 �6��H�
6A�	�-@	 �H:&
�A	C���A	�-	 -�$6�&A�A�

@��	 5����������	 �� �����������	 .
�	 ��	 �1��������	 ���	 ��	 =�
�1�	 ��	 �����	 5�	 ��,��
 ��5�	 �
����'

%	 	 	 
5���������	 ��	 
�	 ��,��	 ��	 ��1�����	 ��	 .
�	 ��	 5���������	 ��	 ����D�%
%	 	 	 
5���������	 ��	 ���
���	��E��	 ���1���5�	 5�	 
�	 ��,��%
%	 	 	 
5���������	 ��	 
�	 ��,��	 =���1���	 ���D�����%

��	 �����	 5�	 �I=����	  ��5��	 ���	 ���=��������	 ��=��4�����	 .
�	 =��������	 5����������
�� �����������	 ���'

%	 	 	 
5���������	 ��	 ��� 
�E�	 .
�	 ��	 5�	 �	 ����I�	 5�	 ���	 �������
���%
%	 	 	 
����=�����	 ��	�����E�	 .
�	 ��	 5�	 �	 ����I�	 5�	 ���	 �������
���%
%	 	 	 �����7��	 ��	 ���5�	 �	 ��	 �����	 5�	 
�	 �
����	 ���5
��F�	 �	 ����I�	 5�	 ��	 �5��

		 	 	 	 	 	 	=�����=��%
%	 	 	 �����7��	 ��	 ���5�	 �	 ��	 �����	 5�	 
�	 �
����	 ���5
��F�	 �	 ����I�	 5��	 ��1�����%
%	 	 	 
5���������	 ���	 ������	 �	 ��������	 =��	 ��	 �L����	 5�	 ���	 �4��1��	�I������%
%	 	 	 �����7��	 ���	 ���������	 �������
�����	 5�	 ��	 �����D�	  ���������	 8������5�����;%

-5
����5��	 ��	 �� ��5�	 ��=����	 ��	 ���	 =������=�����	 5�	 ���	 �������	 =�����	 ��	 ���
���=��������	 ��=��4�����	 �����������	 �1����<�5���	 .
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�	��	�����7�%	:��	�E��=���	��	 ��	 �� ��	��K	�	�<��	�� ������	.
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3.3  Resultados en Matemáticas
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5�	 -�=�F���	 ���	 =������=�����	 5�	 ���	 �������	 =�����	 �����7����	��E����	 ���
���5��	 ��
���	 ����	�������	5�	=�
�1��	�=����5���	.
�	 ���	=������=�����	5�	 ���	�������	5�	�,=����D�
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3.4  Conclusiones
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4. Análisis de resultados específicos en Español
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4.1  Resultados en el pretest y postest de los centros piloto
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:���	 ��	 ��������	 "�	 ��	 �1������	 ���	 �� 
������	 5����	 ����54������'	 ��	 "+%(K	 5�	 ���
=������=�����	 ����
�5��	 .
�	 �����������	 ����	 =�
�1�	 ��	 ��������	 ��	 �����	 ��������%
-�	)�%�K	�������������	��	5���������	�M	 ��	 )�%�K	��	5���������	�	 �	 ��	 )%�K	��	5���������
�%	��	 ��� ��	 ���	 �=������	�	 �	��	 ���	 =������=�����	 5��
������	 .
�	 �������	 ���	 =���1���
=���	 ��	 ��4	 �
	 �� ������5�	 ��	 .
�	 ��	 �=�����	 �	 
�	 �����,��	 .
�	 ��	 ��	 ���������%
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4.2  Resultados obtenidos en el postest

-�	��	�=������D�	5��	=������	�����7�5�	��	���
1��	5�	"����	�5��<�	5�	���	=������=�����
.
�	 ������	 ��	�
�����	5�	 ���	�������	=������	 ��	 ����
D	
�	 �
=�	.
�	��������	 ���	5�
�,=����D�	 �	 ���	 �������	 �� 
�����%	 �	 ��5��	 �����	 ��	 ���	 �=���D	 ��	�����	 =�
�1�	 �	 1�E�
���	 ������	 ���5�������%	 �	 ������
���D�	 ��	 �����7�	 
�	 ��<�����	 ���=�������	 5�	 ���
���
���5��	 �1����5��	 =��	 ��5�	 
��	 5�	 �����%	 -�	 5�	 �����	 �����	 .
�	 ���	 �������	 =�����
�	�,=����D�	������=��5��	�	=������=�����	.
�	�
����	��	�I=����	 ��5�	��	-5
����5��%

��	 ����
D	
��	�
�����	5�	=������=�����	.
�	 �
���1��	��	 �I=����	 ��5�	��	 ������
���
5�	�� 
�5�	����F��7�	�	�������	5�	�5
����D�	1<����	.
�	��	��������1��	��	���	������
���
��5�5��	.
�	���	 �
=��	5�	-5
����5��%	-���	��	�����7D	���	��	=��=D����	5�	5����*
�����	 ��	 ���	 =������=�����	 5�	 ����	��5���5�5	 ���<�	 �� ���5�	 ���	������	 �=���5�7�E��
.
�	 ���	 =������=�����	 .
�	 �
����	 ��	 �I=����	 �F�	 ��	 ��	 �������	 �� 
���%

�	 ������
���D�	 ��	 =�������	 
��	 ���=�����D�	 5�	 ���	 ���
���5��%
-�	 �
�5��	 "�	 �	  �<����	 ��	 ���
���	 ���	 ���
���5��	 5�	 ���	 ����	  �
=��	 ��	 ��	 =�
�1�

���	 �����	 5�	 �
����	  ��5�%	 @��	 =������=�����	 5�	 ���	 �������	 =�����	 �1������	�������
���
���5��	 .
�	 ���	 5�	 �,=����D�	 �	 .
�	 ���	 =������=�����	 5�	 ���	 �������	 �� 
�����%	 ��
�����7��	 ���	 ���
���5��	 =��	 <���	 5�	 5�������	 ��	 ���
���D�	 ��	 �
�	 �����5�%	 -�	 ��,��
����������	 ���	 =������=�����	 5�	 ���	 �������	 =�����	 �
=����	 �	 ���	 �����	 5��	 ��	 �	 �	 "
=
����%	 ��	 ���=����	 ����54����������	 ���	 ���
���5���	 ��	 �1�����	 
��	 5���������	 �� ��*
��������	 �����	 ��	 ���
���5�	 �1����5�	 =��	 ���	 =������=�����	 5�	 ���	 �������	 =�����	 ���
���	 5�	 �,=����D�	 �	 �������	 �� 
������	 =���	 ��	 ��4	 �
��5�	 ��	 ���=���	 ��	  �
=�	 �,=��*
��D�	 ���	 ���	 �������	 �� 
�����%	 -�	 ���5�������	 =��	 ���=�������	 ��=��4����	 ��	 ���4�
��	  ���5��	 =��=��������	 �	 ���	 ���5������	 ��	���������	 ��	 ���	 ����	  �
=��%

-�	 ��	 <���	 5�	 5������	 5�	 ����������	 ���	 =������=�����	 5�	 ���	 �������	 �� 
�����
�� ���	 ��	�����	 =
���E��	 ������5�	 
��	 5���������	 �����	 ���	 5�	 �,=����D�	 �	 =�����	 5�
)	 �	+	=
����%	@�	 ���=�������	.
�	�1�����	 ��	�����	 ���5�������	 ��	 ���	 �������	=�����
��	 �5���������	 ��	 �L����	 5�	 �4��1��	 .
�	 ������	 
��	 =���1���	 ���	 
��	 5���������	 5�	 �+
=
����	���	������D�	��	 �
=�	�,=����D�	�	+	=
����	5��	 �
=�	5�	 ���	�������	 �� 
�����%
@�	���=�������	���	�����	���5�������	��	���	�������	=�����	��	�5���������	���	=���1���
�� L�	 �
	 ������	 8� 
5���	 ������	 �	 ��5�LE
���;�	 .
�	 �1�����	 �	 =
����	 �����	 .
�	 ��
 �
=�	 5�	 �,=����D�	 �	 (	 .
�	 ��	  �
=�	 5�	 �������	 �� 
�����%

-�	 ����������,���	 ��	  �
=�	 5�	 �,=����D�	 �� ��	 �����	 =
���E�	 .
�	 ���	 �������
=�����	 �	 .
�	 �������	 �� 
������	 ���	 
��	 5���������	 5�	 ��	 �	 )	 =
����	 ���=�����������%
@�	 ���=�������	 5�	 �5����������D�	 5��	 �
E���	 �	 ��	 =��5���5�	 ��	 ���������	 .
�	 ������

�	 ��,���	 �� ��	 ��	 ���5�������	 �<�	 ����	 ��	 ���	 ����	  �
=��	 ����
�5��%	 
5���������
5�����	 5�	 
�	 ��,��	 �
����������	 �5E������	 �	 =�����1����	 �1�����	 ��	 ���5�������	�<�
1�E�%

-�	 ��	 ���=�������	5�	 ���<������	 �5���������	 ��	
�	 ��,��	=���1���	 ���D�����	 �	 ���D*
������	 ��	  �
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������	 ��	 ��	 �����	 5�	 ��	 =�
�1�
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�5��	 �	 ����
�����'	 �5���������	 ��	 �5��	 =�����=��	 �	 ���
�5����	 ��	 
�	 ��,��	 8=�����	 ��K�	 �,=����D�
��K	 �	 �������	 �� 
�����	 �+K;M	 �5���������	 ��	 ���
���	��E��	 ���1���5�	 5�	 
�	 ��,��
8=�����	 ((K�	 �,=����D�	 �(K	 �	 �������	 �� 
�����	 ��K;%	 -�	 �����	 5�	 ���	 ���=��������
��	 ���	 5�����5��	 =��	 ��� 
��	 5�	 ���	  �
=��	 ����
�5��%	 8!��	 ���,��%;
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-�	 �
�5��	 ")	�
�����	 ���	 ���
���5��	 �1����5��	 ��	 ��	 =�
�1�	 ���	 �����	 5�	 �I=����
 ��5�	 �	 �,=����	 ���	 �� ���	 �����7�5��	 =��	 ���	 =������=�����	 5�	 ���	  �
=��	 ����
�5��
���	 ��	 =��=
����	 �
����
���	 5�	 �
	 �����%	 ��	 ���	 ����
�5�	 ���	 ��=���5�5��	 ���=��E��
.
�	 =�����	 5��������	  ��5��	 5�	 5����
���5	 �	 =����	 5�	����������	 ��	  ���	 �����5�5	 5�
���
�������	 ��	 ���	 �
����	 ���	 =������=�����	 ��	 =
�5��	 
����7��	 ��	 �=���5�5�	 ��	 ���
5�������	 <�1����	 5�	 ��	 ��5�	 =�������	 �	 ������%	 ���	 ���	 �,=��������	 5�	 ���	 5��������
 ��5��	5�	 �=���5�7�E�	.
�	 ��	�����������	 ��	
�	5����=�F��	 ��	 ���	 �����7	�	��	.
�	 ��
=����	 ��	 ����D�	 �	 ����I�	 5�	 ���	 ���
���5��	 �����E�5��%

-�	���������	�������	.
�	��	����	=�
�1�	 ���	<����	5�	5������	���1���%	��	��	����L�
���<�����M	 ��	 ���1���	 ��	 ����
��	 ��	 <���	 5�	 5������	 5�	 =�����=���	  ��������	 5�	 ���*
 Z4������	 .
�	 ��	 ��� �
����	 ���	 ���	 �������5��	 .
�	 ���	 =������=�����	 5�1��	����E��	 �
����	 �����%	 ��	 ����L��	 ��	 ����	 =�
�1�	 5��������	 ���=��������	 ��=��4�����%

@��	 ���
���5��	 ��	 ����	 �����	 ���������	 ���	 ������	 ���5������%	 @��	 =������=�����
����
�5��	 ��	 ���	 �������	 =�����	 8�+K;	 �� ���	 =�������E��	 �������	 .
�	 ���	 5�	 ���
 �
=��	 5�	 �,=����D�	 8+#K;	 �	 �������	 �� 
�����	 8+#K;�	 �
�.
�	 ���	 =�������E��	 ���
�<�	1�E��	 .
�	 ���	�1����5��	 ��	 ���	 =�
�1��	 ���	�����	 5�	 �
����	 �	 ��,��	  ��5�%	-�	 ���
<����	5�	5�������	 ���	=������=�����	5�	 ���	�������	=�����	 �� ���	��	=�����=���	 ��������
5�	 ��� Z4�����	 �"K�	 ���	 5�	 �,=����D�	 +�K	 �	 ���	 �������	 �� 
�����	 �"K%	 -�	 ��,��
����������	 ���	 =������=�����	 5�	 ���	 �������	 =�����	 �1������	 ��K�	 ���	 5�	 �,=����D�
�+K	 �	 ���	 5�	 �������	 �� 
�����	 �"K%	 -�	 ����������	 ���	 =������=�����	 5�	 ���	 �������
=�����	 �1������	 ��K�	 ���	 5�	 �,=����D�	 +�K	 �	 ���	 �� 
�����	 +�K%	 -�	����������,���
���	 �������	 =�����	 �1������	 )�K�	 ���	 5�	 �,=����D�	 +#K	 �	 ���	 �������	 �� 
�����	 +"K%

��	���	5��������	���=��������	��=��4�����	����
�5���	���	=������=�����	5�	���	�������
=�����	 �
������	 1�E�	 ���5�������	 ���5I����	 ��	 ����	 ���=��������	 ��=��4�����M	 ���
5�	 �,=����D�	 �	 ���	 �������	 �� 
�����	 ��	 5���	 ���=��������%

-�	 ���5�������	 ���5I����	 =��	 ���� ��4�	 5�	 �=���5�7�E�	 =���	 ���	 =������=�����	 5�
���	 �������	 =�����	 ��	 ������������	 ��	 5�	 +#K	 �	 =���	 ��	 ���=�����D�	 5�	 ��K%	 -�
 �
=�	5�	�,=����D�	�� ��	+(K	��	������������	�	+#K	��	���=�����D�%	-�	���	�������
�� 
������	 ���	 =�������E��	 ��	 ������������	 ���	 5�	 +�K	 �	 ��	 ���=�����D�	 5�	 +#K%
@��	 =
��
�������	 ���	 ���������	 �	 ����54����������	 ��	 ���	 �� ������������	 ��	 .
�	 ��5���
.
�	 ���	  �
=��	 ����
�5��	 ������	 �=���5�7�E��	 5���������%

-�	 5������	 5�������5�	 =��	 ���	 =������=�����	 ��	 ����	 =�
�1�	 ��	 1�������	 1�E�'	 ���
=������=�����	 5�	 ���	 �������	 =�����	 ��	 5������	 �����	 5�	 ���	 5��������	 ���=��������
����
�5��%	@��	5�	�,=����D�	��	5������	.
����	���=��������	�	 ���	�������	 �� 
������
�������%	@��	���=��������	.
�	�4	��	 �� ���	��	���	����	 �
=��	���	�5���������	 ���	������
�	 ��������	 =��	 �L����	 5�	 �4��1��	�I������'	 �+K	 ��	 ���	 =������=�����	 5�	 ���	 �������
=������	 �#K	 ��	 ���	 5�	 �,=����D�	 �	 ()K	 ��	 ���	 �������	 �� 
�����%	 @��	 =������=�����	 5�
���	 �������	 =������	 �5��<��	 =
�5��	 �5���������	 ��	 
�	 ��,��	 ���	 =���1���	 .
�	 ���������
5�=��� �	 8��K;%	 8!��	 ���,��%;

4.3 Comentarios

@�	 ���������D�	=�������5�	�����	�.
4	 ������	��	����5�	5�	 ��	���
���D�	5�	�=���5�7�E�
5�	 ���	 =������=�����	 ����	 =������=������	 ��4	 ����	 =���	  ������	 ������� ���	 5�	��E���%
��	 1���	 �����	 5����	 ��	 =�������	 �5���������	 ��	 ���
���D�	 ����5�	 ��	 ��5�	 
��	 5�	 ���
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�������	 ����
�5���	 ������	 ����	 
�	 ����������	 ��	 .
�	 ��	 �
�����	 ��	 ��=�����������	 �
��������	 ���	������	 ��������4������	 5�	 ��	 =�1����D�	 ��	 �
	 ���E
���	 �	 5�	 ��5�	 
��	 5�
���	 ��������	 .
�	 ��	 ���=�����	 ��	 ����	 ����	 �������	 =������	 5�	 �,=����D�	 �	 �������
�� 
�����%	 -���	 ��5���	 .
�	 �	 =����	 5�	 ���	 ���5�������	 =��=���	 5�	 ��5�	  �
=��	 ���
���
���5��	 �1����5��	 �	 �����7�5��	 ��	 ����	 �=����5��	 �����E��	 ���	 =��1�����	 ��	 ��
�=���5�7�E�	 5�	 ���	 =������=�����	 ����
�5��	 ��	 ��	 ����
���D�%

5. Análisis de resultados en Matemáticas

-�	 ����	 �����D�	 ��	 =�������	 ��	 ��<�����	 5�	 ���	 ���
���5��	 ��	�����<�����	 �1����5��
=��	 ���	 =������=�����	 5�	 �I=����	  ��5�	 5�	 ���	 �������	 =������	 �������	 5�	 �,=����D�	 �
�������	 �� 
�����%	 6�5�	 ���
5�����	 5�	 ���	 5���������	  �
=��	 5�	 ���
5��	 �������D	 ����
=�
�1��%	 @�	 =������	 ��	 ��5�	 5�������5�	 
������ 
��� ������ ��� 
������ &����� �	 ����L�
���=��������	 ��=��4������	 �����	 5�	 �������	 ����	 5�	 �
����	  ��5�M	 ��	 �� 
�5�	 ��
5�������	 
������ 
��� ������ ��� ��"��� &����� �� ����L�	 ���=��������	 ������=��5������	 �
.
����	 �	 ��,��	  ��5�M	 �	 ��	 L�����	 ��	 ��	 
������ 
��� ������ ��� �	
����� &�����	 =���	 ����
��
���=��������	 =��=���	 5�	 �I=����	  ��5�%	 -�	 =��=D����	 5�	 �����	 =�
�1��	 ��	 5���������
��	 �����	 5�	 ������������	�����<����	 .
�	 ������	 ���	 =������=�����	 5�	 �I=����	  ��5�
��	 ���	 ���=��������	 ��=��4�����	 ������=��5�����	 �	 ���	 5���������	  ��5��	 �	 ���=�������
���	 ���	 ���
���5��	 �1����5��	 =��	 ���	 =������=�����	 5�	 ���	 5��������	  �
=��	 5�	 ���
5��%

@��	 ���
���5��	 ��	 �����<�����	 ��	 5���5��	 ��	 5��	 ���������%	 -�	 ��	 =������	 ��
=��������	 ���	 ���
���5��	 �1����5��	 =��	 ���	 =������=�����	 5�	 �I=����	  ��5�	 5�	 ���
�������	 =�����	 ��	 ��	 =������	 �	 =�������	 �	 ��	 ��	 �� 
�5�	 ���	 ���
���5��	 5�	 ���	 5��������
 �
=��	 5�	 ���
5��%	 -�	 ��1��	 ��	 ���=����	 ���	 ���5��������	 ������5�	 �����=�I	 ��
�.
�����	 ���=��������	 5��5�	 ����54����������	 ���	 5����������	 �� �����������%

5.1  Resultados en el pretest y postest de los centros piloto

-�	 ����	 ���
5��	 ���	 �������	 =�����	 ���<�	 �������
�5��	 =��	 �.
�����	 �������	 5�
-5
����5��	 .
�	 �
����	 ����
�5��	 ��	 ��	 �F�	 "���	 ���	 ��	 =��=D����	 5�	 5���������	 ��
�����	 5�	 �����5�	 5�	 ���	 =������=�����	 5�	 �I=����	  ��5�	 ��	 �������	 ��	 =��4�5�	 �������
8=������;%	 @��	������	 �������	 �
����	 �1E���	 5�	 
��	 �� 
�5�	 ����
���D�	 ��	 "���	 =���
5���������	 ��	 �����	 5�	 ����5�	 8=������;%	 �	 ������
���D�	 ��	 =��������	 ���	 ���
���5��
5��	 =������	 �	 ��	 =������	 =��	 ��5�	 
��	 5�	 ���	 =�
�1��	 ����5��%

5-,-,� ����
(���������
��	
�����������	�

-�	��	�
�5��	"+	�	 ��	 �<����	�(	��	=��������	 ���	 ���
���5��	=��	<����	5�	5������	5�
��	 =�
�1�	 ���	 �����	 5�	 �
����	  ��5�	 5�	�����<�����	 5�	 =������	 �	 =������	 �1����5��
=��	 ���	=������=�����	5�	 �I=����	 ��5�	5�	-5
����5��%	 ��	�1�����	.
�	 ��	 ���5�������
��	 ����������	��	(KM	5�	��K	.
�	�1�
������	��	��	=������	�
1��	�	��K	��	��	=������%
$��	 5�	 ���	 ��7����	 5�	 ����	 ����������	 �� ����������	 =�5�4�	 ���	 .
�	 5
�����	 ��	 �F�
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����	 �,=
�����	 �	 �� 
���
�����	.
�	 ���	=����������	�5.
����	 �������������	�	5����������	��1���5�5��	 �	5�����7��
��=�������	 .
�	 ������1
�����	 �	 �
	 �������D�	 ��	�����<�����%	 :���	 
�	 ���
5��	�<�
=���
�5��	 �	 ������
���D�	 ��	 =�������	 
�	 ��<�����	 =��	 <����	 5�	 5������	 �	 =��	 ���*
=��������	 ��=��4�����%

�D��	 ��	=��������	5����������	 �� �����������	 ��	 ���	 <����	 5�	�=���������	 �	  ������4�%
-�	��	 <���	5�	�=����������	 ��	 ����������	��	��	 ���5�������	��	5�	��KM	5�	
�	�"K	��
��	=������	=��D	�	((K	��	��	=������%	-�	 ������4��	��	 ����������	��	5�	�KM	5�	�)K	��
��	 =������	 �
1�D	 �	 �#K	 ��	 ��	 =������%

7� 3���� ,>-�1
�	���
����
�����
� ���������� �
��	
�	������
	
����������������
��	
��
���������	�6�
��������
(�����

���
��	
� ����������	�-���
�
��� #�����
��-

��B@
�
�	 	�-	 	�-�$@&��A�	 	-�	 	��&-�B&
6��

;2 ;;

=.

;;

50

5D

5.
5=

D

,D

5>

=5

<

.<

2<

=<

><

�:�
��� A�
������
� 7
��
��/� �
	�	� 8�(����#
7� 3����

8����

��
�
��

����
��



((@AC�A�	 �6��H�
6A�	�-@	 �H:&
�A	C���A	�-	 -�$6�&A�A�

���	��� .2-�1
�	���
���� 
�����
� ����������  �
��	
�	�������	

���������������
��	
��
���������	��
�� ������
(���������
��	
�����������	�-

��
�
��� #� ����
��-

F�
�� 	

	������

����
�
������
��
�/3����
����
���$


��
�
�� ����
��

&�=��	 5�	 �L�����
�	  �������7���D�
5�	�
�
=��=��5�5��%

�� ������5�	 �
�<��
��	 5�	 ���
�=���������

C������4�

��������D�	 5�
�� ���
5��	 �
�=���������	 ���
���	 
��5�5��	 5�
��5�5�

@���
��	 �
�����=������D�	 5�
��1���	 �	  �<�����

����
���$
�	
�� �
��	
�	������

����
���$
�	
�� �
��	
�	������

(�

��
��

;2

�"

�)

=.

(�

��
��

"#

))
+�

�(

50

+#

��

5.

#

D

= ,

��

#�
�(

;;

((

(�

;;

��

�)
��

)#

+�
�+

�(

5D

+(

�)

5=

#

, D

=;

����
���$
�	
�� �
��	
�	������

����
���$
�	
�� �
��	
�	������

�%� @���	 �	 �����1��	 �L�����	 ���
�����%
�%" ���������	 �� 	 ��=���������D�	  �<� ���	 �	 ��

������
��	 ���1D����	 5�	 ����������%
�%) -���1�����	 ����������	 5�	 ��5��	 ��	 �L�����

���
�����%
����
���$
�	
�� �
��	
�	������

"%� -����
��	 �� �������	 5�	 �5���D��	 �
�������D��
�
���=������D�	 �	 5�����D�	 5�	 �L�����	 ���
�����%

"%" ��������	 =��1�����	 
����7��5�	 �� �������	 5�
�5���D��	 �
�������D��	 �
���=������D�	 �	 5�����D�
5�	 �L�����	 ���
�����%

)%� 
5���������	 �D��5��	  ���I������	 8�����	 �����5���
=��<��5��	 ������	 �	 =�����;%

)%" ���������	 �� 
���	 =�����	 �	 �5����� ����	 �
�
���������	 8�I�������	 <� 
���	 �	 ��5��;%

)%) 
5���������	 ���	���������	5�	
��	����
���������%
)%+ ��������	 =��1�����	 5�	 =��4�����	 5�	 ���<� 
���

�	 �
�5���<�����%
)%� ��������	 =��1�����	 5�	 <���	 5�	 ���<� 
���	 �

����<� 
���%
)%� 6���������	 <� 
���	 ��	 � 
5���	 ������	 �	 �1�
���%
)%( 6���������	 �
�5���<�����	 5�	 ��
��5�	 �	 ��	��5�5�

5�	 �
�	 ��5��	 �	 �
�	 <� 
���	 8����<� 
���
�
�5��5��	 ���=����	 �	 =������� ����;%

+%� 
5���������	 ��5�5��	 5�	 ��� ��
5�	 ��=���5�5	 �
<���%

+%" ��������	 =��1�����	 8��������D�;	 
����7��5�
��5�5��	 5�	 ��� ��
5	 �	 =���%

����
���$
�	
�� �
��	
�	������

�%�	 ��������	 =��1�����	 
����7��5�	 ��	 =����5��
�����I����%



	 	 	 �A�3�-	�-	@�	:$3@
6�6
G�(�

-�	<���	5�	�'�����	��	��5�	����
�5�	���	����	���=���������	��	 ���	�
����	��	�
�����
��	 ��	 ���5�������	 ��	 �
=���	 ��	 +K%	 @�	 ����
��	 �	 ������
��	 5�	 �L�����	 ���
�����
=�������	
�	����������	5�	"KM	��	����1����������	5�	����������	5�	��5��	���	�L�����
���
�����	�
����D	��	�K�	�	��	 ��������������	5�	 ��	=���������D�	 �<����	�	 ��	������
��
���1D����	5�	 ����������	 �
1�D	+K%	��� 
��	5�	 ���	 �����������	 ��	 �����	 ���=��������
��	 �� ����������%	 -�	 ��=�������	���������	 .
�	 �����	 ��	 ��	 =������	 ����	 ��	 ��	 =������
���	 ���5��������	 �����7��	 ��	 ��K%

-�	�����	 ����������	 ��	 ��	 ���5�������	 ��	 �� ��	 ��	 ��	 <���	 5�	 �
���
�����(	 5�	 �"K
��	��	=�������	�
1�D	�	((K	��	��	=������%	��	���	5��	���=��������	��=��4�����	����
�5��
��	 ����	 <���	5�	5�������	 ��	�����	 ����������	 ��	 ��	 ���5�������	 8��K;	 ��	=������D	 ��
�����
��	 ���	 �� �������	 5�	 �5���D��	 �
�������D��	�
���=������D�	 �	 5�����D�	 5�	 �L�����
���
�����	 8=������'	 �"K�	 =������'	 ((K;%	 -�	 ��	 �����
��D�	 5�	 =��1�����	 
����7��5�	 ���
�
����	 �=���������	 1<�����	 ���	 �L�����	 ���
������	 ��	 ����������	 ��	 ��	 ���5�������
��	�����	 8�)K;M	 5�	 �)K	 ��	 ��	 =������	 =��D	 �	 (�K	 ��	 ��	 =������%	 :���	 ��1��	 ���=�*
��������	 ��	 ����������	 ��	 ��	 ���5�������	 ��	 �� ����������%

-�	 <���	 5�	 &������)�	 �
�����	 
�	 ����������	 ��	 ��	 ���5�������	 5�	 �KM	 5�	 �)K	 ��
��	=������	=��D	�	�#K	��	��	=������%	����	5�	���	�����	���=��������	��=��4�����	����
�5��
��	 ����	 <���	 5�	 5������	�
������	 ����������	 ��	 ��	 ���5�������M	 ���	 ��1�� ��	 �D��
��	 5��	 5�	 �����	 I���	 ��	 �� ����������%	 $��	 ��	 ��	 ������5�	 �	 ��	 �5����������D�	 5�	 �D��5��
 ���I������	 8�����	 �����5���	 =��<��5��	 ������	 �	 =�����;�	 .
�	�
�����	 
�	 ����������
��	 ��	 ���5�������	5�	 ��K	 8=������'	 (�KM	=������'	 ��K;	 �	 ��	����	 ��	 ��	 ���������5�	 ���
��	 �����
��D�	 5�	 =��1�����	 5�	 =��4�����	 5�	 ���<� 
���	 �	 �
�5���<�����	 ���	 ��K
8=������'	 "#KM	 =������'	 )#K;%	 :���	 ����	 L�����	 ���=��������	 �
�	 �
��5�	 ��	 5���������
��	 �� �����������	 ��	 5�1�	 ����5����	 .
�	 =���	 ��1��	 ����
�������	 ��	 ���5�������	 ��
��� �	 ��	 �	 +�K%

A����	 ���=��������	 ��	 ���	 .
�	 ��	�����D	
�	 �����5�	 ����������	 ��	 ��	 ���5�������
���'	 ��������	 =��1�����	 5�	 <���	 5�	 ���<� 
���	 �	 ����<� 
���	 8�K;�	 ����������	 <� 
���
��	 � 
5��	 ������	 �	 �1�
���	 8�K;	 �	 �5���������	 ���	 ���������	 5�	 
��	 ����
���������
8�K;%	 ���	 ��1�� ��	 5�1�	 �����5����	 .
�	 ��	 ��� 
��	 5�	 �����	 ����	 ���=��������	 ��
�� �����	 =����5���	 � 
����	 �	 �
=�������	 ��	 ��K�	 ��	 ��	 ��	 =������	 ��	 ��	 ��	 =������%	 -�
��	 ���=�������	 5�	 ��������������	 5�	 �� 
���	 =�����	 �	 �5����������D�	 5�	 �
�	 ���������
8�I�������	 <� 
���	 �	 ��5��;�	 ��	 ����������	��	5�	"K	 8=������'	 ��KM	=������'	 �)K;M	 ��	 ��
�����������D�	5�	�
�5���<�����	�� L�	��	��5�5�	5�	�
�	��5��	�	�
�	<� 
����	��	���5�������
��	��������	 ����1��	 8�(K;%

-�	 ��	 <���	 5�	 �������� ��	 �5����������D�	 5�	 ��5�5��	 5�	 ��� ��
5�	 ��=���5�5	 �	 <���
=�������	 
�	 5�������	 ��	 ��	 ���5�������	 5�	 "K	 8=������'	 +#KM	 =������'	 +(K;�	 ���
��1�� ��	 ��	 ��	 �����
��D�	 5�	 =��1�����	 
����7��5�	��5�5��	 5�	 ��� ��
5	 �	 =���	 8���*
�����D�;�	 ��	 �
�����	 ��	 5�	 (K	 8=������'	 ��K	 �	 =������'	 �)K;%	 -�	 �
�����	 ��	 ����
���=�������	 ��	 ��	 �� ����������%

-�	 <���	 5�	 ������� �� &����
��	 =�������	 
�	 �
�����	 ��	 ��	 ���5�������	 5�	 ��K�	 ���
��1�� ��	 ���	 =����5���	 �����	 ��	 ��	 =������	 ����	 ��	 ��	 =������	 ���	 �,�����5������
1�E���	�������	 ��	 "�K%	@�	 ���=�������	 5�	 ����	 <���	 5�	5�������	 P��������	 =��1�����

����7��5�	 ��	 =����5��	 �����I����Q�	 �1�
��	 ��	 ��	 =������	 #K	 �	 ��	 ��	 =������	 �#K%
-���	 �
�����	 ��	 ��	 �� ����������%

-�	 ���
����	 ���	=������=�����	5�	 �I=����	 ��5�	5�	-5
����5��	=��������	
�	 �����*
�����	 ��	 ��	 ���5�������	 5�	 (K	 ��	 ��	 =�
�1�	 5�	�����<�����	 ���	 �����	 5�	 �
����

��B@
�
�	 	�-	 	�-�$@&��A�	 	-�	 	��&-�B&
6��



(#@AC�A�	 �6��H�
6A�	�-@	 �H:&
�A	C���A	�-	 -�$6�&A�A�

0=

25

0=
25

..
.5

05

20

=,

;0

02
2.

<

.<

2<

=<

><

�:�
��� A�
������
� 7
��
��/� �
	�	� 8�(����#�7� 3���� 8����

��
�
��

����
��

 ��5��	 ��	 �
��	 ��	 �� ����������%	��	 ���	 ��	 ���=��������	 ��=��4�����	 ����
�5��	 ��	 ����
=�
�1��	 �
����	=��������	 �����������	 �� �����������	 ��	 ��	 ���5��������	 ���	 .
�	�������
�����	 ��	 �	 ��K%	 -����	 ���=��������	 ���<�	 ������5��	 ��	 5���������	 5�	 �� �������	 �	 ��
�����
��D�	 5�	 =��1�����	 ���	 �L�����	 ���
������	 ��	 �5����������D�	 5�	 �D��5��
 ���I������	 �	 ��	 �����
��D�	 5�	 =��1�����	 5�	 =��4�����	 5�	 ���<� 
���	 �	 �
�5���<�����%

5-,-.� ����
(���������
��	
��
�������	�

-�	 ��	 =�
�1�	 5�	 �����<�����	 ���	 �����	 5�	 ��,��	  ��5��	 ��	 ���5�������	 5�	 ���
=������=�����	 5�	 �I=����	  ��5�	 5�	 -5
����5��	 ��	 ���������D	 ��	 �KM	 5�	 )+K	 ��	 ��
=������	 �
1�D	 �	 +"K	 ��	 ��	 =������	 8���	 �
�5��	 "	 �	  �<����	 ";%	 -���	 ����������	 ��	 ��
���5�������	 ��	 �� ����������	 �	 ��	 ��	�<�	 ����	 �����7�5�	 =��	 �����	 =������=�����	 ��	 ���
����	 =�
�1��%

7� 3���� ,D-�1
�	���
����
�����
� ���������� �
��	

	�������	
����������������
��	
��
���������	��
��������
(�

�������
��	
��
�������	�6���
�
���#�����
��

-�	��	 �<����	�#	��	=��������	���	���
���5��	=��	<���	5�	5������	5�	���	=������=�����
5�	 �I=����	  ��5�	 ��	 ��	 =�
�1�	 ���	 �����	 5�	 ��,��	  ��5�%	 ��	 �1��������	 5����������
�� �����������	 ��	 ��5��	 ���	 <����	 5�	 5�������	 �,��=��	 ��	 ��	 5�	  ������4�%	 -�	 �����
����������	��	5�	��	��	<���	5�	��1���	�	 �<�����M	5�	��K	��	��	=������	=��D	�	()K	��	��
=������%	@��	 <����	5�	�L�����	 �	�=���������	�
������	
�	 ����������	5�	 #KM	5�	 )�K
�
1�����	 �	 +�K%



	 	 	 �A�3�-	�-	@�	:$3@
6�6
G���

���	���.5-�1
�	���
����
�����
� ������	
� ���������������
��	
� �
�����
���	��	
��	�����	���
��������
(���������
��	
��
�������	�-���
�
���#�����
��-

F�
�� 	

	������

����
�
������
��
�/3����
����
���$


��
�
�� ����
��

�%	 &�=��	 5�
�L�����	 �
 �������7���D�
5�	�
�
=��=��5�5��

"%	 �� ������5�	 �
�<��
��	 5�	 ���
�=���������

)%	 C������4�

+%	 ��������D�	 5�
�� ���
5��	 �
�=���������	 ���
���	 
��5�5��	 5�
��5�5�%

�%	 @���
��	 �
�����=������D�	 5�
��1���	 �	  �<�����

�%� -��������	 ��	 �,=����D�	 5������	 5�	 ����������	 �
���������%

�%" -���1�����	 ����������	 5�	 ��5��	 ���	 �������*
���%

�%) -���1�����	 ����������	 5�	 ��5��	 ���	 �L�����
5��������%

"%� -����
��	�� �������	5�	�=���������	1<�����	���
�L�����	 ���
�����	 ������5�	 
��	 5�	 �� ���	 5�
� �
=���D�%

"%" -����
��	�� �������	5�	�=���������	1<�����	���
�L�����	 5��������%

"%) -����
��	�� �������	5�	�=���������	1<�����	���
�L�����	 5��������	 ������5�	 
��	 5�	 �� ���	 5�
� �
=���D�%

"%+ -����
��	�� �������	5�	�=���������	1<�����	���
����������%

"%� ��������	=��1�����	5�	�=���������	1<�����	���
�L�����	 5��������%

"%� ��������	=��1�����	5�	�=���������	1<�����	���
����������%

) % � 
5����� ����	 �	 ������ ����	 =��4 ����	 �� L�	 �
�	 ��5��%
)%" ��������	=��1�����	������5�	
��	5�	��	����
���*

������%
)%) ��������	 =��1�����	 ������5�	 
��	 5��	 <���	 5�

�4��
���%
)%+ ��������	 =��1�����	 ������5�	 
��	 5��	 <���	 5�

=��4 ����	 �� 
�����	 �	 ���� 
�����%
)%� 6���
���	 ��	 ���
���	 5�	 =������	 ������ 
�����

8�
1�	 �	 =�������=4=�5�;�	 =��<��5���	 �����5���	 �
�����%

+%� ��������	 =��1�����	 ������5�	 
��	 5�
=�������E���	 �����I��	 ��=
����	 ��1��	 �����	 �
5���
����%

+%" ��������	 =��1�����	 ������5�	 
��	 5�	 ��7����	 �
=��=��������%

�%� 
����=�����	 5����	 ��	  �<�����	 5�	 1����	 �	 ��1���
5�	 5�1��	 �����5�%

����
���$
�	
�� �
��	
�	������

����
���$
�	
�� �
��	
�	������

����
���$
�	
�� �
��	
�	������

����
���$
�	
�� �
��	
�	������

"�
)"

�#

0=

"#

"+

+�

)+

+�

+�

0=
+"
"�

�(

�(

�(

..

)�

��

��

= ,

02

)(
+�

�#

25

)�

)�

++

)�

�)

�)

25
+�
"�

")

�#

""

.5

)�

��

()

;0

2.

��B@
�
�	 	�-	 	�-�$@&��A�	 	-�	 	��&-�B&
6��

����
���$
� �����



��@AC�A�	 �6��H�
6A�	�-@	 �H:&
�A	C���A	�-	 -�$6�&A�A�

-�	��	 <���	5�	�'�����	 ��	 ����������	��	5�	#KM	5�	)�K	��	��	=������	=��D	�	+�K	��
��	 =������%	 ��	 ���	 ����	 ���=��������	 ��=��4�����	 ����
�5��	 ��	 ����	 <���	 5�	 5�������
5��	 5�	 �����	�
������	 �
������	 ��	 ��	 ���5�������%	 @��	�������	 ��	 5��	 ��	 ���������
��	 �,=����D�	 5������	 5�	 ����������	 �	 �,=����D�	 ������������	 5�	 5���������	 ���	 �"K
8=������'	 "�K	 �	 =������'	 )(K;�	 �	 ��	 ����1�����	 ����������	 5�	 ��5��	 ���	 �����������
���	 #K	 8=������'	 )"KM	 =������'	 +�K;%	 :���	 ��	 =������	 ���=��������	 ��	 ����������	 ��
�� �����������	 ��	 ��4	 =���	 ��	 �� 
�5�%	 -�	 ��=�������	���������	 .
�	 �
�.
�	 ��	 �����*
�����	 ��	 �� �����������	 ��	 ���5�������	 ��	 ��� �	 ��	 �	 +�K%	 :���	 ��1��	 ����
��������	 ��
���=�������	 ���	�����	 ���5�������	 ��	 ��	 ������5�	 ��	 ����1����������	 5�	 ����������
5�	 ��5��	 ���	 �L�����	 5��������	 8�#K;M	 ���	 ��1�� ��	 ��	�
�����	 ����������	 �� 
��
��	 ��	 ���5�������%

-�	 <���	 5�	 �
���
�����	 =�������	 
�	 ����������	 5�	 #K	 ��	 ��	 ���5�������	 8=������'
)�K	 �	 =������'	 +�K;%	 @��	 ����	 ���=��������	 5�	 ����	 <���	 5�	 5������	�
������	 �����*
�����	 ��	 ��	 ���5�������	 .
�	 �������	 �����	 �	 �	 �"K%	 @��	�������	 ��	 5��	 ��	 �����
��
�� �������	 5�	 �=���������	 1<�����	 ���	 �L�����	 5��������	 ���	 ��K	 8=������'	 "+K	 �
=������'	 )�K;	 �	 ��	 ��������	 =��1�����	 
����7��5�	 �=���������	 1<�����	 ���	 �L�����
5��������	 ���	 �"K	 8=������'	 +�K	 �	 =������'	 �)K;%	 :���	 ��1��	 ���=��������	 ���
�����������	 ���	 �� �����������%

���������	 �	 ���	 �����������	 ��	 ����������	 ��	 ��	 ���5�������	 ��	�����%	 -�	 ��	 5���*
������	 5�	 �� �������	 5�	 �=���������	 1<�����	 ��	 5�	 �=����	 �K	 8=������'	 )+K	 �	 =������'
)�K;	 �	 ��	 ��	 �����
��D�	 5�	 =��1�����	 ��	 5�	 (K	 8=������'	 +�K	 �	 =������'	 �)K;%	 :���
����	 L�����	 ���=�������	 ��	 5���������	 ��	 ��	 ���5�������	 ��	 �� ����������%	 ���������
�����	 ���
���5��	�
������	.
�	=���	 ���	=������=�����	 �����	�����	 �����5�	 ��	 �����
��D�
5�	 =��1�����	 .
�	 ��	 ���=��	 �����	 5�	 5����������	 �� �������	 5�	 �=���������	 1<�����%

-�	 ������D�	 ���	 ��	 5���������	 5�	 �� �������	 5�	 �=���������	 1<�����	 ������5�	 
��
5�	 �� ���	 5�	 � �
=���D��	 ���	 �����������	 ���	 1�E��%	 6
��5�	 ��	 ���1�E�	 ���	 �L�����
���
�����	 ��	 5�	 "K	 �	 ���	 �L�����	 5��������	 ��	 5�	 )K%	 &����	 ��	 ��	 ����
���D�	 5�
=������	 ����	 ��	 ��	 5�	 =�������	 ���	 =����5���	 ��	 ��� ��	 �	 )�K	���	�L�����	 ���
�����
��	 �	 +�K	 ���	 �L�����	 5��������%

-�	<���	5�	&������)��=�������	��	�<�	1�E�	 ����������	��	��	 ���5�������'	)K	8=������'
""K	 �	 =������'	 "�K;%	���	 5�	 ���	 �����	 ���=��������	 =��������	 5�������	 ��	 ��	 ���5�*
�������	 �
�.
�	 ���	 ��1��=����	 ��	 "K'	 �5���������	 �	 ����������	 =��4 ����	 �� L�	 �
�
��5��	 8=������'	 +"K	 �	 =������'	 +�K;�	 �	 ��������	 =��1�����	 ������5�	 
��	 5�	 ��	 ���*
�
���������	 8=������'	 "�K	 �	 =������'	 "�K;%

@��	�������	 �����������	 ��	 5��	 ��	 ��������	 =��1�����	 ������5�	 
��	 5��	 <���	 5�
�4��
���	 8=������'	 �(K	 �	 =������'	 ""K;%	 @�	 ���=�������	 ��1��	 ��	 �����
��D�	 5�	 =��*
1�����	 ������5�	 
��	 5��	 <���	 5�	 =��4 ����	 �� 
�����	 �	 ���� 
�����	 ���1�I�	 =�������

�	 ����������	 ��	 ��	 ���5�������	 8=������'	 �(K	 �	 =������'	 �#K;%	 �
�	 �
��5�	 �����
����	 ���=��������	�
������	 
�	 ����������	 ��	 ��	 ���5��������	 ���	 =�������E��	 ��	 ��
����
���D�	 5�	 =������	 ��	 ��� ��	 ��	 ��.
����	 �	 "�K%

-�	 ��	 <���	 5�	�������	 ���	 5��	 ���=��������	�
������	 �
�����	 ��	 ��	 ���5�������%
-�	�����	 8�"K;	 ��	5�	 ��	 ��������	=��1�����	������5�	
��	5�	 ��7����	 �	=��=��������
8=������'	 ��K	 �	 =������'	 ��K;	 �	 ��	 �����	 8�K;	 ��	 ��������	 =��1�����	 ������5�	 
��
5�	 =�������E���	 �����I��	 ��=
����	 ��1��	 �����	 �	 5���
����	 8=������'	 )�K	 �	 =������'
)�K;%	 @�	 =������	 ���=�������	�
�����	 
��	 5���������	 �� ����������	 ��	 ��	 ���5��������



	 	 	 �A�3�-	�-	@�	:$3@
6�6
G��"

��	 ��4	 ��	 ��	 �� 
�5�%	 :���	 I���	 L������	 ���	 =�������E��	 ���	 ���������	 1�E���	�������
��	 +�K%

-�	 ��	 <���	 5�	 ������� �� &����
��	 �D��	 ��	 ����
D	 ��	 ���=�������	 P�����=�����	 5����	 ��
 �<�����	 5�	 1����	 �	 ��1���	 5�	 5�1��	 �����5�Q�	 ��	 �
��	 =�������	 
�	 ����������	 5�	 �"KM
5�	 ��K	 ��	 ��	 =������	 =��D	 �	 ()K	 ��	 ��	 =������%	 -�	 ����������	 ��	 ��	 ���5�������	 ��
����	 ���=�������	 ��	 �� ����������%

-�	���
����	��	��	=�
�1�	5�	�����<�����	���	�����	5�	��,��	 ��5�	���	=������=�����
5�	 �I=����	  ��5�	 �����������	 �
	 ���5�������	 ��	 
�	 �K%	 ��	 ���	 �(	 ���=��������
����
�5���	 �+	 =��������	 �
�����	 ��	 ��	 ���5�������	 .
�	 ���	 5��5�	 �	 �����	 �"K%	 @��
�������	 �����������	 ���	 =��������	 �����	 ���=���������	 .
�	 ���'	 ���������	 ��
�,=����D�	5������	5�	����������	�	���������M	�����
��	�� �������	5�	�=���������	1<�����
���	 �L�����	 5��������M	 ��������	 =��1�����	 5�	 �=���������	 1<�����	 ���	 �L�����
5��������M	 ��������	 =��1�����	 ������5�	 
��	 5�	 ��7����	 �	 =��=��������	 �	 �����=�����
5����	 ��	  �<�����	 5�	 1����	 �	 ��1���	 5�	 5�1��	 �����5�%	 &�5��	 �
������	 
�	 ����������
��	 ��	 ���5�������	 5�	 ����5�5��	 5��	 �"KM	 ���	 ��1�� ��	 ��	 ���	 .
�	 ����5��	 .
�	 �D��
���	 5��	 L������	 ���=��������	 �����7��	 =����5���	 ����5�5��	 5��	 (�K	 ��	 ��	 ����
���D�
5�	 =������%

5-,-0� ����
(���������
��	
��
���������	�

-�	 ��	 �
�5��	 "�	 �	 ��	  �<����	 "�	 ��	 =��������	 ���	 ���
���5��	 �1����5��	 =��	 ���
=������=�����	 5�	 �I=����	  ��5�	 5�	 -5
����5��	 ��	 ��	 =�
�1�	 5�	 �����<�����
������=��5�����	 �	 �������5��	 5�	 �I=����	  ��5�%	 ��	 �1�����	 
�	 ����������	 ��	 ��
���5�������	5�	�KM	 ��	5�����	 5�	"�K	.
�	�1�
������	��	 ��	=������	 �
1�����	 �	)�K	��
��	 =������%	 ��	 ���	 ����	 =�
�1��	 .
�	 �������	 ���	 =������=������	 ��	 I���	 ��	 =�������	 ��
����������	�<�	 1�E�M	 ���	 ��1�� ��	 ��	 �� ����������%	 
 
��	 .
�	 ��	 ��	 =�
�1�	 ���	 �����
5�	 �
����	  ��5��	 ��	 =��������	 5����������	 ����54����������	 �� �����������	 ��	 ��5��	 ���
<����	5�	5�������	�,��=��	��	 ��	5�	 ������4�%	-�	�����	 ����������	 8��K;	��	5�	��	��
<���	 5�	��5�5�	 8=������'	 �)K�	 �	 =������'	 �+K;�	 �� 
�5�	=��	 ��	 5�	�=���������	 �	 ��1���
�	  �<������	 ���	 
�	 ����������	 5�	 (K%

��B@
�
�	 	�-	 	�-�$@&��A�	 	-�	 	��&-�B&
6��

,>
.0 .2

0,

.,
.5

50

=2

0<
0;

.5 0,

<

.<

2<

=<

><

�:�
��� A�
������
� 7
��
��/� �
	�	� 8�(����#�7� 3���� 8����

��
�
��

����
��

7� 3����.<-�1
�	���
����
�����
� ���������� �
��	
�	�������	
� ���������������
�
	
��
���������	������������
(���������
��	
��
���������	�6���
�
���#�����
��



�)@AC�A�	 �6��H�
6A�	�-@	 �H:&
�A	C���A	�-	 -�$6�&A�A�

A���	 5�	 ���	 5��7	 ���=��������	 ����
�5��	 ��	 ��	 =�
�1�	 5�	 �I=����	  ��5�	�
������
�����������	 ��	 ��	 ���5��������	 .
�	 ���	 5��5�	 +	 �����	 ��KM	 ���	 ��1�� ��	 ���
���5��������	 �����	 ��	 ��	 =������	 ����	 ��	 ��	 =������	 ���	 1�E���	�������	 5��	 +�K	 ��
�
���	 5�	 ���	 5��7	 ���=��������%

-�	 <���	 5�	 �'�����	 �
�����	 
�	 ����������	 ��	 ��	 ���5�������	 5�	 �K	 8=������'	 ��K
�	=������'	 ")K;%	���	5�	 ���	 �
����	 ���=��������	 ��=��4�����	 ����
�5��	 ��	 ����	 <���	5�
5������	 =��������	 ����������	 ��	 ��	 ���5�������'	 ���������	 ��	 �,=����D�	 5������	 5�

�	 �L����	 ��������	 �	 ����������	 ���	 #K	 8=������'	 ")K	 �	 =������'	 )"K;�	 �	 ���������
��	 �4����	 ���L�	�L���=��	 �	 ��	 �<,���	 ���L�	 5������	 5�	 �L�����	 ���
�����	 ���
�K	 8=������'	 "�K	 �	 =������'	 "#K;%	 �
�.
�	 ��1��	 �����������	 ���	 �� ������������	 ��
5�1�	 ����5����	 .
�	 ���	 =����5���	 ��	 ��	 =������	 ��	 ��� ��	 �	 )�K%

���������	 ��	 ����1����������	5�	 ���	 ����������	5�	��5���	 �����	 ���	�L�����	 �������
8=������'	 #K	 �	 =������'	 �K;	 ����	 ���	 �L�����	 ����������	 8=������'	 ""K	 �	 =������'
""K;	 ��	 ���5�������	 ��	��������	 ����	 ���������	 ��	 ��	 ����
���D�	 5�	 =������	 �	 =������%

-�	 ��	 <���	 5�	 �
���
������	 ��	 ����������	 ��	 ��	 ���5�������	 ��	 5�	 (KM	 5�	 "+K	 ��	 ��
=������	 =���	 �	 )�K	 ��	 ��	 =������%	 @��	 ����	 ���=��������	 ����
�5��	 ��	 ����	 <���	 5�
5������	 =��������	 �����������	 ��	 ��	 ���5�������M	 ���	 ��1�� ��	 �D��	 5��	 ���	 �� ����*
�������%	-�	�����	��	�� ��	��	�� �������	5�	�=���������	1<�����	���	�L�����	5��������
���	��K	8=������'	"#K	�	=������'	)#K;�	�� 
�5�	=��	�����
��	�� �������	5�	�=���������
1<�����	 ���	 �L�����	 ��������	 ���	 �K	 8=������'	 "�K	 �	 =������'	 )�K;%



	 	 	 �A�3�-	�-	@�	:$3@
6�6
G��+

���	���.=-�1
�	���
����
�����
� ������	
� ���������������
��	
��
���������	�
	
��	�����	��6�
�� ������
(���������
��	
��
���������	�-���
�
���#�����
��-

F�
�� 	

	������

����
�
������
��
�/3����
����
���$


��
�
�� ����
��

&�=��	 5�
�L�����	 �
 �������7���D�
5�	�
�
=��=��5�5��

�� ������5�	 �
�<��
��	 5�	 ���
�=���������

C������4�

��������D�	 5�
�� ���
5��	 �
��5�5�%

&�1���	 �	  �<�����

�%� -��������	 ��	 �,=����D�	 5������	 5�	 
�	 �L����
��������	 �	 ���������%

�%" -��������	 ��	 �4����	 ���L�	 �L���=��	 �	 ��
�<,���	 ���L�	 5������	 5�	 �L�����	 ���
�����%

�%) -���1�����	 ����������	 5�	 ��5��	 ��	 ���	 �L�����
�������%

�%+ -���1�����	 ����������	 5�	 ��5��	 ��	 ���	 �L�����
����������%

"%� -����
��	�� �������	5�	�=���������	1<�����	���
�L�����	 �������	 8�=���������	 ���1���5��;%

"%" -����
��	�� �������	5�	�=���������	1<�����	���
�L�����	 ����������	 8�=���������	 ���1���5��;%

"%) -����
��	�� �������	5�	�=���������	1<�����	���
�L�����	 5��������	 8�=���������	 ���1���5��;%

)%� -��������	 ��	 ���=�������	 �	 �
=�������	 5�
<� 
���	 �	 ����
���	 ��	 ��5�5�	 5�	 ���	 <� 
���
��������	 5�	 
�	 ���<� 
��%

+%� ��������	 =��1�����	 �=� ����5�	 ��7����	 �
=��=��������	 85�������	 �	 ��������;�	 �� ��	5�	 ����
���=��	 �	 ���=
����	 �	 �����	 =��	 ������%

�%� ��������	 =��1�����	 
����7��5�	 ���	 ��5�5��	 5�
���5�����	 �������%

����
���$
� �����

����
���$
�	
�� �
��	
�	������

����
���$
�	
�� �
��	
�	������

����
���$
�	
�� �
��	
�	������

����
���$
�	
�� �
��	
�	������

")

"�

#

""

, >

"�

"�

"#

.2

"�

. ,

�)

)�

0<

.5

)"

"#

�

""

.0

)�

"+

)#

0 ,

"�

.5

�+

)(

0;

0 ,

@�	 ���=�������	 P�����
��	 �� �������	 5�	 �=���������	 1<�����	 ���	 �L�����	 ��*
��������Q	�
�����	
�	 �
�����	 ��	 ��	 ���5�������	5�	+K	 8=������'"�K	�	=������'	 "+K;M
���	 ��1�� ��	 ��	 ��	 �� ����������%	 -�	 ���	 ����	 ���=��������	 5�	 I���	 <���	 5�	 5�������
���	 �� �������	 5�	 �=���������	 1<�����	 ��	 ��������	 �	 �=���������	 ���1���5��%

-�	 ��	 <���	 5�	 &������)��	 �D��	 ��	 ����
D	 ��	 ���=�������	 P���������	 ��	 ���=�������
�	 ��	 �
=�������	 5�	 <� 
���	 �	 ����
���	 ��	 ��5�5�	 5�	 ���	 <� 
���	 ��������	 5�	 
�
���<� 
��Q%	 -���	 =�������	 
�	 ����������	 5�	 +K	 ��	 ��	 ���5��������	 5���������	 .
�	 ��

��B@
�
�	 	�-	 	�-�$@&��A�	 	-�	 	��&-�B&
6��



��@AC�A�	 �6��H�
6A�	�-@	 �H:&
�A	C���A	�-	 -�$6�&A�A�

��	 �� ����������%	 -����	 ���
���5��	 ���	�
�	 1�E���	 ��	 .
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������Q	�
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��=��4�����	 ����
�5��	 ��	 ��	 =�
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	 ���5�������
��	 �K�	 5���������	 .
�	 ��	 �� ����������%	 ����	 5�	 ���	 5��7	 ���=��������	 ��=��4�����
����
�5��	�
������	 5����������	 �� �����������	 ��	 ��	 ���5�������%	 -�	 �����	 ��	 5�
��	 P��������	 =��1�����	 �=�����5�	 ��7����	 �	 =��=��������	 85�������	 �	 ��������;�	 �� ��
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5.2  Comparación del rendimiento

-�	����	�����D�	��	���=���	��	���5�������	�1����5�	=��	���	=������=�����	5�	�I=����
 ��5�	5�	 ���	5���������	  �
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=��	 ��	 ���	 5���������	 =�
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��D�	5�
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�����%	 -�	 ��
5���������	 5�	 �� �������	 5�	 �=���������	 1<�����	 ���	 �L�����	 ���
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5������	 ��	 ��	 �����
��D�	 5�	 =��1�����	 
����7��5�	 ��	 =����5��	 �����I����	 8�������
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=�����	8��K;�	�� 
�5�	=��	���	5�	���	�������	5�	�,=����D�	8��K;	�	���	�������	�� 
�����
8��K;%	 -����	 ���	 �������	 =�����	 �	 ���	 �������	 �� 
�����	 ��	 =��������	 5����������
�� �����������	 ��	 ���	 �� 
������	 ���=��������'	 ��������	 =��1�����	 
����7��5�	 �=���*
������	 1<�����	 ���	 �L�����	 ���
������	 ��������	 =��1�����	 5�	 <���	 5�	 ���<� 
���	 �
����<� 
����	 �	 ��������	 =��1�����	 
����7��5�	��5�5��	 5�	 ��� ��
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���=�������	�
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-�	 ���5�������	 ��	 ��	 <���	 5�	 �
���
�����	 ��	 �
�	 �������	 8����5�5��	 5��	 ++K;	 �	 ��
��	 =��������	 5����������	 �� �����������	 �����	 ���	 5��������	  �
=��	 5�	 ���
5��%	 :��	 ���*
=��������	��=��4������	�D��	��	�1������	5����������	�� �����������	�����	���	�������	=�����
�	 ���	 �������	 �� 
�����	 ��	 ��	 ���=�������	 P�����
��	 �� �������	 5�	 �=���������	 1<�����
���	 �L�����	 ���
�����	 ������5�	 
��	 5�	 �� ���	 5�	 � �
=���D�Q�	 ���	 ���5��������	 5�
)�K	�	 +"K�	 ���=�����������%	-�	 ���	 �������	=�����	 ��	 �1����D	.
�	 ��	 ���5�������	 ��
���	 ���������	 .
�	 ����L��	 ����	 ���=�������	 ��	��������	 ����	 ����������	 ���	 )�KM	 ��
���1���	 ��	 ���	 �������	 �� 
�����	 ������	 �����	 )#K	 �	 +�K%	 :���	 ��1��	  �
=���	 ��
�����4�	 5�	 ���	 =������=�����	 ���� �D	 ����	 �=��D�	 ��������	 �.
����	 ��	 ��	 .
�	 ���
�=���������	 ��	 �����7��	 ��	 ��	 ��5��	 ��	 .
�	 �=�������	�������5�	 
�	 5��������������
��	 ��	 E����.
4�	 5�	 ���	 �=���������%

@�	 ���=�������	 P��������	 =��1�����	 5�	 �=���������	 1<�����	 ���	 �L�����	 5���*
�����Q	 ��	�
�����	 5����������	 �� �����������M	 ���	 ��1�� �	 ���	 
��	 5���������	 5�	 �K
�����	 ��	 ���5�������	 5�	 ���	 �������	 =�����	 �	 ���	 �������	 �� 
�����%	 ��	 �������	 ���
���������	.
�	����L��	����	���=�������	��	�1����D	.
�	 ���	=������=�����	5�	 ���	�������
=�����	 ���=��5�����	 ���	�<�	 I,���	 �.
�����	 ���������	 5��5�	 �����	 
��	 5�	 ��	 �
���*
=������D�	 �	 ��	 �
�������D��	 ���	 
��	 5���������	 5�	 �=��,���5������	 �"K%

A���	 ���=�������	 .
�	�
�����	 �� 
��	 5����������	 �
�.
�	 ��	 ��	 �� ����������	 8+K;
�����	 ���	 �������	 =������	 �	 ���	 �������	 5�	 �,=����D��	 ��	 ��	 �����
��D�	 5�	 =��1�����

����7��5�	 �=���������	 1<�����	 ���	 ����������%	��	 ���	 ����	 ���������	 .
�	 ����L��	 ����
���=��������	 ��	 .
�	�<�	 1�E�	 ���5�������	 =�������	 ��	 �.
��	 5��5�	 ��	 ����	 
��	 5�	 ��
5�����D�%	-�	 ��1��	  �
=���	 ���	 =����5���	 ���	�������	 5��	 )�KM	 ���	 ��1�� ��	 �,����

��	 5���������	 5�	 #K	 �	 �����	 5�	 ���	 =������=�����	 5�	 ���	 �������	 =�����%	 -�	 ��������
���	�<�	 ����	 ���5�������	 ��	 ��1��	  �
=��	 ��	 �.
��	 5��5�	 ��	 
����7�	 ��	 �
�������D�M
���1�I�	 ���	�������	=�����	�
������	�����	 ���5�������	.
�	 ���	�������	5�	�,=����D��
���	 
��	 5���������	 5�	 (K%

-�	 ��	 <���	 5�	 &������)�� ��	 =��������	 5����������	 �� �����������	 ��	 ��	 ���5�������
�����	 ���	 �������	 =�����	 �	 ���	 �������	 �� 
�����%	 -�	 ���5�������	 ��	 1�E�	 =���	 ���	 ����
 �
=��'	"�K	=���	���	�������	=�����	�	���	�������	5�	�,=����D��	�	)�K	=���	���	�������
�� 
�����%	 :��	 ���=��������	 ��=��4������	 ��	 ���5�������	 ��	�
�	 1�E�	 =���	 ��5��	 ���
 �
=��	 �	 �D��	 ��	 �1������	 5����������	 �� �����������	 �����	 ���	 �������	 =�����	 �	 ���
�������	 �� 
�����	 ��	 ���	 ���=��������	 ��1��	 ��	 �����
��D�	 5�	 =��1�����	 ������5�	 
��
5�	 ��	 ����
����������	 �	 ��	 �����
��D�	5�	=��1�����	������5�	
��	5��	 <���	 5�	=��4 ����
�� 
�����	 �	 ���� 
�����%	 -�	 ��	 =������	 ���=��������	 ��	 =�������	 
��	 5���������	 5�	 #K
�	 ��	 ��	 �� 
�5�	 5�	 �K�	 �	 �����	 5�	 ���	 �������	 �� 
�����%

-�	 ��	 <���	 5�	������	 ��	 =��������	 5����������	 �� �����������M	 ���	 ��1�� ��	 �D��	 ��
5��	�����	���	�������	=�����	8+)K;	�	���	�������	�� 
�����	8))K;%	@��	5��	���=��������
��=��4�����	 ����
�5��	 ��	 ����	 <���	 5�	 5������	�
������	5����������	 �� �����������	 �����
���	5��	 �
=��%	@�	5���������	��	��	���5�������	��	��	���=�������	P��������	=��1�����
������5�	 
��	 5�	 ��7����	 �	 =��=��������Q	 ��	 5�	 ��K	 �	 �����	 5�	 ���	 �������	 =�����
8��K;	�	 ���	�������	�� 
�����	8��K;%	��	�������	 ���	���������	.
�	 ��	����L���	��	�1�����
.
�	 ���	 =������=�����	 5�	 ���	 �������	 =�����	 �1������	 ���5��������	 .
�	 ���	 5��5�	 ��K
�����	 ((KM	 ��	 ���1���	 ���	 5�	 ���	 �������	 �� 
�����	 =��������	 ���5��������	 ����������
����5�5��	 5��	 ��K%	��	 ���	 �(	 ���=��������	 ��=��4�����	 ����
�5��	 ��	 ����	 =�
�1��	 I���
��	 
��	 5�	 ���	 .
�	 =�������	�����	 ���5�������	 ��	 ���	 ����	  �
=��%
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@�	 ����	 ���=�������	 5�	 ����	 <���	 5�	 5������	 ���<	 ���������5�	 ���	 ��	 �����
��D�	 5�
=��1������	 ������5�	 
��	 5�	 =�������E���	 �����I��	 ��=
����	 ��1��	 �����	 �	 5���
�����
��	��	.
�	���	����	 �
=��	5�	���
5���	�����7����	=�������E��	�
�	1�E���	���	=����5���
5�	 )�K	��	 ���	 �������	=������	 )�K	��	 ���	 �������	 5�	 �,=����D�	 �	 "�K	��	 ���	 �������
�� 
�����%	��	�1����D	.
�	���	=������=�����	5�	���	�������	5�	�,=����D�	�	5�	���	�������
�� 
�����	���������	�����	5����
���5	��	�.
�����	���������	5��5�	�����	
��	5��	�����I�
���=��	 �	 ��	 ��	 �<��
��	 5��	 =�������E�M	 ��	 ���1��	 =���	 ���	 �������	 =�������	 ��	 ���5�*
������	 ��	 �������	 ��	 ���	 ����	 ���������%

-�	��	<���	5�	 ���������&����
��	��	=��������	5����������	�� �����������	��	��	���5�������
�����	 ���	 �������	 =�����	 �	 ���	 �������	 5�	 �,=����D��	 �	 �����	 ���	 �������	 =�����	 �	 ���
�������	 �� 
�����%	-�	����	 <���	 ��	 ����L�	 ��	 ���=�������	P�����=�����	5����	 ��	 �<�����
5�	1����	�	��1���	5�	5�1��	�����5�Q%	@�	���=�������	�
�	����5�	5�	���	��,���	
����7�5��
=��	 ���	 =������=�����	 5�	 �I=����	  ��5�	 5�	 -5
����5���	 =��	 ��	 .
�	 ��	 ��=���1�	 .
�
�1�
������	����	���5�������%	-�	��=�������	������	.
�	I���	��	
��	5�	���	���=��������
��=��4�����	 ����
�5��	 ��	 ����	 =�
�1�	 .
�	 =�������	 �����	 ���5�������	 ��	 ��5��	 ���
 �
=��	 8������	 =������	 ()KM	 �������	 5�	 �,=����D��	 �)KM	 �	 �������	 �� 
������	 ��K;%

-�	 ���
����	 ��	 ���5�������	 ��	�����<�����	 5�	 ���	 =������=�����	 5�	 �I=����	  ��5�
��	 ��	 =�
�1�	 ���	 �����	 5�	 ��,��	  ��5�	 ��	�
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